STEVES AND SONS w |4
| San Antonio, TX 78225 SFoi2i it |2 8 U8
Zor i W% N |8y ¢B &5
TN IOim 02%9 .0 ZF{ Zi
2, inia wmYo ki 46 “
Su: RS A s pPo5 2F
ETEVEE = ASd! ibiz Tizg 8% S0 2=z
=5 wi ¥ izi2 ofoZ\\[EE EZ2y 0O
o @ Wan Q1 FeL |7 384 43
o T Ui, 9 ,.--Jo:\ poo ME
T w I *-..:>_ ?.-'“Qév F] nw owv
w z !! *:_J s < o b OWN - 1 8
= < 1 s @ o &F
eranad =, & 3 285 s
o EQ B £8, by
[ SZ S a 256 ©
Glazed Fiberglass Double Door 5 g8 PoRiE
o ° $= 30 2 § E
w/ or w/o Sidelites Sz PR ik
< = 0
INSWING / OUTSWING > B :
o N
] r & X »
NON-IMPACT zi
=
[%0)] Ly
EVALUATED FOR USE IN THE STATE OF TEXAS %i B §§
The Fiberglass Door described herein complies with the 2006 Intemnational Residential Code (IRC), 106.50" MAX. OVERALL FRAME WIDTH <‘g g %:
Sections R301 & R613 and the 2006 Intemational Building Code (IBC), Sections 1405.12, 1609, 1714.5, 15.5" MAX. i 74.0" MAX. anngD o o P
2403 and 2404 (including Texas revisions) subject to the following conditions: FRAME WIDTH | FRAME WIDTH Egél 4] 2 g
1. Anchors shall be as listed and spaced as shown in the details. Anchor embedment to base material T g - o) g @
shall be beyond wall dressing or stucco. a = = &
2. When used in areas requiring wind-borne debris protection this product is required to be protected = = & g ®
with an impact resistant covering that complies with Section R301.2.1.2 of the IRC and Section O % )
1609.1.2 of the IBC. T Sl
3. Allowable design pressure requirements must be equal to or less than the design pressure rating s E ,
shown in the design pressure chart, sheet 1 of this drawing. é o® % Q ©
4. Conditions not covered by this drawing are subject to further engineering analysis. — % 2= fgn
SUPPORTING DOCUMENTS & EVIDENCE ﬁ% 2 § - S
1. Testing per AAMA/WDMA/CSA 101/1.5.2/A440-05 : 3" © © gl |2
Testing Evaluation Laboratories, Inc. test report(s) #: TEL 01530200 & TEL 01530201. 3¢ = 2| o
2. Calculations (Anchoring and Glass load resistance report ASTM E1300-04) prepared ‘2‘ = o g
by Lyndon F. Schmidt, P.E. o R 3| &
3. Certificate of Participation issued by the National Accreditation and Management Institute, Inc., X §
certifying that STEVES AND SONS is manufacturing products within a Quality Assurance program. ‘ J «
c
TABLE OF CONTENTS =
SHEET# | DESCRIPTION =l
1 Typical elevations, design pressures & general notes ol
2 Door panel details  — Fa
3 |Sidelite panel details MA GN PRESSURE (PSF) T
4 [Horizontal cross section L - o 1=
5 Vertical cross sections | DIMENSION | POSITIVE | | /E | NEGATIVE owie: 5/19/10
: et e T . _ . ] L e || e || Do | Al e
7 Frame anchoring XX 74.00" x 98.00" | 21.0"x 79.87" +45.0 -55.0 +45.0 +45.0 B, BY: UK
8 Glazing details CHK. BY LFS
2 Astragal details W 5 " . + ] . BY:
10 Bill of materials and components gxxo 106/50" x 88007 | 21O x 2867 45.0 53.0 +45.0 +45.0 DRAWING NO.
TX—4093
SHEET _ 1 oF 10

\Clients\Steves and Sons - Permanent\Texas Dept of Ins\TX-4092-95.dwg, TX-4093

© 2010 R.W. BUILDING CONSULTANTS INC.



\Clients\Steves and Sons - Permanent\Texas Dept of Ins\TX-4092-95.dwg, 2-2

R

AR

35.75" MAX.
PANEL WIDTH - p———
q D.L.O. WIDTH

q
~1
51.63"
D

ok ,

m HORIZONTAL CROSS SECTION

\2/

1 |

T

G 5 (83)

w

T T

-

£ 0

< =

o N

><'. —

< Z

=z = 5

S & —

e o f |
(@]
ﬂ:
N

==

&
0
=

M@

@ 43 HINGE AND LATCH STILE
Wood

—— — — ®_®_ |

I——.

. DOOR PANEL
Fiberglass
RSL DOOR LITE FRAME SCREWS (ltem #3A):

HEAD/SILL (4 total), 3.25" from corners & 7.25" max. o.c.
JAMBS: (8 total), 3.25" from corners & 10.75" max. o.c.

ODL LITE FRAME SCREWS (ltem #3):
HEAD/SILL (4 total), 3.25" from corners & 6" max. o.c.
JAMBS: (8 total), 6.5" from corners & 10" max. o.c.

Fiberglass

SHOWN w/o LITE INSERT

FOR CLARITY

3.90"

~—1.60" ——

—J 1.25 L ?

24"

— 120" |=—

[=—1.60" —|

ey

/4

//
—T

46 LITE FRAME REINFORCMENT

Wood

|<71.6O"*| i

0.70"

‘ LOCK BLOCK
Wood

~—1.60" —|

—— S — .48"

‘ TOP RAIL
Wood

"' 1.20"

BOTTOM RAIL
Composite / LVL

7

¢
«

eene i)y

NDON F. SCHMIDT &

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

INTERIOR

\

A

7“2\ VERTICAL CROSS SECTION

P.O. Box 230 Valrico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.:

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

A
o =
z3 =
oo Ly
ng Q
=) -
=9 | @
<3 (3 2
nao 2| o
LJ
we |uo
>0 ol x
Mo |l S
o7 || ©
2 o
o &
x <
o o
x>
S|
(]
o
(=
o
£
&
(9]
%)
El |z
=zl ©
5 %}
3| @
=
a
N
N
3
=
O
s
wn
L
b=
S
~N
—lo
z

oae: 5/19/10

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4093

SHEET _2 oF 10

© 2010 R.W. BUILDING CONSULTANTS INC.




A W |
SNy MR
@ R TSR AN T N P 0
@ P B
Sas iz e Be N [Ex 8 HE
(] A Eg:m 0. %% o . . =<
e = oo ————— Sk; 34 wh ow Om® 9]
Rk = et 3 & I A R L B 5 et . I s N O = i z Zu_
o / T . ii P, .' / e —— Qlif*".:f> :. ?Q\Oé" % ;g EE
W™ & S - EQ
@ THE
o Z 0 L
@ Bt
o 9 .c
e 562 B
& moao 55
14.00" MAX. A § o
PANEL WIDTH £
7" MAX. : X 53
D.L.O. WIDTH g
b @ HORIZONTAL CROSS SECTION 8
3
| A %
: =
/ ox | §
’ : ol
in 2 =
B I e 4 |4
\3/ 3 #— ge |3
= . I I
r T - x|l ©
5 5 * : i INTERIOR EXTERIOR 3 8 &
ol I _|-| L ”_ 2 @
o o a &
Z I
%2 - i
<€
s 3 O @SIDELITE BOTIOM RAIL
2 & 2
5 o =T ;
o N ey
o T, Ty S
e B o [75)
5 B
/ G =
/ it 5| [
/ I S et
S 3 16— | e g
i B H
2 : — ¢ ol
Ul /—_ - 59 'Z
. SIDELITE PANEL — 120" = T N
Fiberglass ~lo
Z
oate: 5/19/10
ODL LITE FRAME SCREWS (ltem #3): P—— ScAE:  N.T.S.
HEAD/SILL (2 total), 2" from corners ‘&gg’aﬂf STILE 54 Wood DWG. BY: JK

7“2\ VERTICAL CROSS SECTION o o LFS

JAMBS: (8 total), 6.5" from corners & 10" max. o.c.

\Clients\Steves and Sons - Permanent\Texas Dept of Ins\TX-4092-95.dwg, 3-2

RSL SIDELITE FRAME SCREWS (ltem #3A):
HEAD/SILL (2 total), 2" from corners

JAMBS: (8 total), 3.25" from corners & 10.75" max. o.c.

\3/

DRAWING NO.:
TX—4093

SHEET _3 oF 10

© 2010 R.W. BUILDING CONSULTANTS INC.




A\Clients\Steves and Sons - Permanent\Texas Dept of Ins\TX-4092-95.dwg, 4-2

A

2

EXTERIOR

SEE
NOTE 1

\

50

() @

/4 "\ HORIZONTAL CROSS SECTION
U Inswing shown outswing
also approved

-~

INTERIOR

0.15"
C'SINK
(TYP.)

DS S SR S S S

= = = = w ==

>

//

/

SEE DRYWAh
NOTE 1

/3" HORIZONTAL CROSS SECTION
U Inswing shown outswing
also approved

EXTERIOR

- Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

~ 2N V‘
NOTE: Q‘N‘m:-: E\““II; *
o Xeinl 4l o
1. Sidelite ass'y fastener; 6" from each end and ST iSEY & -
SA% iz R0, o
6 more screws equally spaced between. ,::,g/ Gim % %
(8 screws total per jamb.) g“— %w so “‘é 2 é&
O e - T
O 0 YoF r}.
HE ., 1O SRS
QX S
Iz,l *pisf '?Qgér
N
EXTERIOR
51
7
Z \;
® Z
INTERIOR

2"\ HORIZONTAL CROSS SECTION
\U Inswing shown - outswing
also approved

A — ¢

™
A A N

A\

= Vg 5& o

/1" HORIZONTAL CROSS SECTION
U Inswing shown - outswing
also approved

P.0. Box 230 Valrico FL. 33595

Documents Prepared By

BUILDING CONSULTANTS, INC.
Phone No.: 813.659.9197

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

%)
=
&)
0 G
0.2
Z3 LG)-’
ole)
0ng "
Qun %]
2 |5E
wa (2]
ge (B =
oD 25
Ll (@)
= D:N
3 S|
o o
o E| T
o <
o a
>—
el fas]

REVISIONS

7/16/15 |Manuf./Product Name Change

NO, DATE

1

oATE: 5/19/10

scate: N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—-4093

SHEET _4 oF 10

© 2010 R.W. BUILDING CONSULTANTS INC.



“ON| SINVLINSNOJ aNIaTing "M"'d olLoz @

ZS8LL—d # NOLVMLSIORN 40 3L1VDI4ILy3D SNOISIA3Y -
SHIINIONA TVNOISSIH0¥d 40 auvog Svx3l SNOILOIS SSOND TWALLNIA wm R e 1 ey mpw.mw,wwh ohz o slxlo| o m_
L6L6°6S9°CLB 'ON euoyd - = o)
i = s e ROE) S \Sﬁ&. IATAW3SSY d0 Ldvd W M 1. Q 5
*ONI ‘SINVLINSNOD 9ONIaTing \ . g1 5_
3000 SSY19¥3414 Wl 15 Ele &
SZLYOL# "3'd Svxal SNOS AaNV S3A3LS MEIRIME &
‘3'd IPIWYDS 4 uopuil :Ag pedodeud sjuswnooq 110Na0Y¥d M g W 5 W 5
Sre F\.\.NU.F
VRN
) izov 2
PR\ L O T
SN\ 53N
h..;s%vv K 7750, -
F3 .%o\ \.w
Grrendrrennd AAAL AT -
% LAINHOS 4 NOONAT 2
G erarspsneneresisemssrerineians deses
\\* % ¥
«v ¥* -, r
NSE 3of
ML I8 3N
T o
O
i
<
5 (@)
(N =
e
Y5
oz Qg
o e
[a% ke
L = Nnu c
i = 39
o
Yo V\<c
| o =3
28 o S
o
O|< o >0
ac ¢ =
Vg = <[
= | <C =z
<> =
ol 3
-” [
oz 3
w| ©
B >S5
O
i
— N |
=

(*dAL)
~—3INIS.D
S0

—
/ EXT. SHEATHING

WOOD

P ) CONCRETE

J

EXTERIOR
(30)

EXTERIOR

I
W NS

7“3\ VERTICAL CROSS SECTION

\y Inswing shown - outswing
also approved
w Inswing configuration

/4
/1" VERTICAL CROSS SECTION

®)

ol A%
DRYWALL
(40)
INTERIOR
INTERIOR
(40)

Z-S ‘BMP'S6-Z601-X1\SUI 4O 1daq sexa]\Juauewad - SUOS pue saAd1S\siualD\:



“ON| SLANVLINSNOJ aNIaling ‘M'sd oLog @

ZS8LL—d # NOLVALISIOZY 40 ILVOIALLYID 5 SNOISIATY ST e T
SY3INIONT TVNOISS340d8d 40 dyvOo8 SvX3L o (=)
o B SNOILO3S SS0HO TVIOILHIA S 5BUBL) BWBN 39npoid,/ o] 61/91/7 ]+ | = | v | X _._S: M 1_
L6L6°6S9°CLE ON euoyd : N PlE] 2w
G6SES 14 OOMIDA 0SZ Xog .o.mgg ‘A1GWN3SSY 80 1¥vd o = . m o
*ONI ‘SINVLINSNOD ONIGTINg N - 2 | 6_
40004 SSY1943814 10 SRR vTA
CZL+bOL# "3'd SvxaL SNOS (ONV S3A3FLS MEIFIME m
‘I°'d ‘IPIWYDS 4 uopukl] :Ag peJspdeud sjuewnosoq :109NAa0dd W m W W w &
s N..VIM.N
Le Y vuuR LY
S50 YN, 1,
o %%ov -
£ N EEENIT 5
Zas T
g5 s Y
o LAINHOS 4 NOGNAT 2
€ iienssecaseracsroranssscarssrsanase g
o¥ Yo
O x % &
0-&4YM.\. ..... Q (@)‘m.(
- w ........... V. )ﬂ(
NJL 40 3F
M m m
=~ =
i @ O
n 95
w ©
5
&2
| c
S IS
o2
| 52
wi>
>0
o ———P/ N
AIU :y\::::.:\ >
oz {
Ll
—
pd
O - ’/4
N N
z
<
L
L
w
e
&5
("dAL)
/ IV.A ANISO
L S10 .
o A S— — _ m
oz 2
wl O o g
ST 8%
wl Yo o} m
| < 0
\ ._ e 25
=) £ 0
. i o .
SR 5 SET
I2° zl 3386
U 52 ~
=25
W39
>(ET
mw

SEE
NOTE 1

DRYWALL
\:;f:,,:
(50
INTERIOR

EXTERIOR

7“3\ VERTICAL CROSS SECTION

w Inswing configuration

INTERIOR

Z-9 ‘BMP'S§6-Z601-XL\SUJ 40 3daQ Sexa\Juduewiad - SUOS pue sand)S\sualD\:



\Clients\Steves and Sons - Permanent\Texas Dept of Ins\TX-4092-95.dwg, 7-2

2X FRAMING TO BE DESIGNED BY THE ENGINEER OR ARCHITECT OF RECORD
BASED ON WIND LOADS AND THE CLADDING BEING USED.

2X BUCK
\

TYP. HEAD &
JAMBS

\L FRAME

ASTRAGAL

SHOWN FOR

REFERENCE
ONLY

0 WOOD

(TYP. @SSILL)
CONCRETE

" &
J ] 3" 3"
—~ e Ao
I | 1\-11
SEE DETAIL 1

SEE DETAIL 2

L

11

-
1

14.33" MAX.
O.C. (TYP.)

FRAME AN

CHORING

(XX)

CONCRETE ANCHOR NOTES:

3

——6.5"

= 26" (TYP.) —|

— L

TYP. HEAD &
JAMBS

ASTRAGAL
SHOWN FOR
REFERENCE

ONLY

WOOD
(TYP. @ SILL)

CONCRETE

3"

7 —]

I 1-11 1
SEE DETAIL 1

SEE DETAIL 2
'/‘[ I | |

—

1
p———

14.33" MAX.

HINGE JAMB

1. Concrete anchor locations at the corners may be adjusted to maintain the min.
edge distance to mortar joints.

2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted fo
maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

3. Concrete anchor table:

MIN. | MIN. CLEARANCE | MIN. CLEARANCE
T e e M AGONRY. | TO ADJACENT
. TYPE. | SEE | EMBEDMENT | ANCHOR
ITW ® 3/1 6'. ]-3/ " 1-1/2"
TAPCON 18" 1-3/4" 11/2° T
ELCO " 11 n "
ULTRACON®| 1/4 1-3/4 1 4

FRAME ANCHORING

(OXXO)

FLOOR SUBSTRATE MATERIAL
CONCRETE (MIN. 3000 PSI)
WOOD (S.G. >= 0.42)(TYP)

DETAIL 1
Astragal Strike Plate

0.C. (TYP.)

K 8
‘{’%%’%
:
A

/

I/

HINGE DETAIL

51.63"

o |-

ASTRAGAL

SR W 3
S kTini 5, o
St Dy 0y o
R A N
S ER - 9,
ey 0l 0249
ouf P0G g
20i iwig oz <g/
gV izio ¢S
/(\_U'._ :CZ> s‘— > \:"
Y&, igi FSL
,1 (‘._ Ha) s %
Qlo “ei Z et ¢ j\)
R it Vs
M

CONCRETE

WOOD

DETAIL 2
Astragal Strike Plate
Inswing

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.O. Box 230 Valrico FL. 33595
813.659.9197

Documents Prepared By

BUILDING CONSULTANTS, INC.

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

STEVES AND SONS
FIBERGLASS DOOR
FRAME ANCHORING

PART OR ASSEMBLY:

PRODUCT:

=

/

3/8" dia. hole

DETAIL 2
Astragal Strike Plate
Outswing

LATCH & DEADBOLT DETAIL

w/ Standard Strike

&)
@)

K
BY

7/16/15 |Manuf./Product Name Change

NO,| DATE

1

REVISIONS

oATE: 5/19/10

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—-4093

sHeer 7 oF 10

© 2010 R.W. BUILDING CONSULTANTS INC.



\Clients\Steves and Sons - Permanent\Texas Dept of Ins\TX-4092-95.dwg, 8-2

@)
EXTERIOR

INTERIOR

\| =i

11141111 | 4

RIS

Gl

EXTERIOR

INTERIOR

1/2" GLASS BITE

__1/2'0O/A
GLASS THK.
| 1/8" TEMPERED

GLASS

N~ AIR SPACE

1/8" TEMPERED
GLASS

GLAZING DETAIL

RSL Door Frame

1/2" GLASS BITE
/TN __1/2'O/A
— GLASS THK.
;" H Y | 1/8" TEMPERED
c GLASS
% - ’ u‘ \
. AIR SPACE
: 4
1 1/8" TEMPERED
3 GLASS
GLAZING DETAIL

G1 JODL sidelie Frame

58
EXTERIOR

l<— 1/2" GLASS BITE

INTERIOR

Gl

5
__1/2'0/A
7 GLASS THK.
' | 1/8" TEMPERED
< GLASS
\.74
n ‘Y AIR SPACE
4 1/8" TEMPERED
GLASS
3A

GLAZING DETAIL

RSL Sidelite Frame

CT.
by ]
R AR L 1Y AN e
Lo 111 s )
,C?'ro*.-'fg 5-.6‘*7’3 ) d 1535 0 o
Sreizite b N [EE 0 @ o
S e '-02.) 3} . 8 Zz
2y i L " Z o S8 ©
S Dl 0B W dm 9
g7 tien W9 L N
Hu_. .V); 7 ) L Ef‘”
= twie 2% L
501 8 w=zo Sg E o I
% Wt 1Zi2 U2 lsh %289 3
2, K :OE ~E o CKF ETW0 =
IS 4 XS ('l\» Jg©o 0
Wi 191 &EN)|” 33¢ 8
eeel E et 000 S -
e 515 FRE s 88° ¢
N pndoce™ & OoN:§
0 xz
he) = 0 '8
o £Zme O
a 456 0
[ ol = %
& o g
o m
T §
; 3
: rﬂ
a

CERTIFICATE OF REGISTRATION # F—11852

STEVES AND SONS
FIBERGLASS DOOR
GLAZING DETAILS

PART OR ASSEMBLY:

PRODUCT:

BY

7/16/15 |Manuf./Product Name Change

NO,| DATE

1

REVISIONS

pATE: 5/19/10

scale:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4093

sHeeT _8 oF 10

© 2010 R.W. BUILDING CONSULTANTS INC.



\Clients\Steves and Sons - Permanent\Texas Dept of Ins\TX-4092-95.dwg, 9-2

L
A 100 JERCEEC lq ©q
DEAD BOLT (THRU HOLE) Soxxiei g |23 2 o
A, 33.125" .:'*“4\.‘%?-’- """ N b N [Ex & g
’ AN A du o8B BT
/) Ay %x' REV AN M-S
508 §oiY Wt b= g
2 : P ][O0 5 [ Qe o ° : seae fe PN ZER) |8 Rl B
7/ A — 7 [ AP igi~ o > 558 ok
= 7 ] f E O i8] T 3-8 {E
— 278" . R SIS b S £88 o8
. L | 2.50 | lll\\"*’:‘ ?‘:C." n>]' ONg oW
1333 o g g zZ 14
——| 375" = |~ 343" = £ §oe %6
§ 592 gp
i L Mmoo
10.75" —1 250 fe—————10.50" —————= ; L§ 8%
5 g k
w
18.75" 18.50" 5 @ ©
a g 3
2 26.75" 26.50" 5
D LATCH (BLIND HOLE] =
25 3
- 28§
— o
— O = — %c‘p) 5 i
<5 o %
Celd =
oalal 5
L ERe 2
< S
< 8'-0" ALUMINUM ASTRAGAL ASSEMBLY 8 I
By Endura Products & &
>_
__‘_ m
()
&)
5 BOLT RETAINERS 8
N
o |n
? E z
- =zl |©
- = El=
ALUMINUM ASTRAGAL < =
’v 1.63" —j 2 -
175" —| SLIDE BOLT ROD o
ALUMINUM ASTRAGAL }7
51 By Endura Products VIEW A-A E Ll
Aluminum Astragal Assembly BOLT RETAINERS =
. MATL: 9-3/4" Aluminum A
r‘ 19.63" /L o IS
{ baTE: 05,/19,/10
;5 = SCALE:  N.T.S.
DWG. BY: JK
? CHK. BY: LFS
SLIDE BOLT ROD me';iioiog 3
MATL: Steel

SHEET _9 oF 10

© 2010 R.W. BuILDING CONSULTANTS INC.



\Clients\Steves and Sons - Permanent\Texas Dept of Ins\TX-4092-95.dwg, 10-2

m HEAD & SIDE
Jamb

5.62"

31 INSWING THRESHOLD

BILL OF MATERIALS
ITEM # | DESCRIPTION MATERIAL

B 2X FRAMING SG >=0.42 WOOD

C 1/4' MAX. SHIM SPACE -

G 3/16" PFH ITW CONCRETE SCREW (1-3/4" MIN. EMB.) STEEL

J #10 X 3" PFH WOOD SCREW STEEL

L #10 X 2-1/2" PFH WOOD SCREW STEEL

M 1X OR 2X REINFORCEMENT SG >= 0.55 STEEL

P 1/4" PFH ELCO OR ITW CONCRETE SCREW (1-3/4" MIN. EMB.) STEEL

1 FEMALE LITE FRAME - ODL POLYPROPYLENE
1A FEMALE LITE FRAME - RSL POLYPROPYLENE
2 MALE LITE FRAME - ODL POLYPROPYLENE
2A MALE LITE FRAME - RSL POLYPROPYLENE
3 #8 X 1-3/4" PANHEAD SMS (LIGHT FRAME SCREW) STEEL
3A #8 X 1-1/2" PANHEAD SMS (LIGHT FRAME SCREW) STEEL

4 ALUMINUM SPACER SYSTEM ALUMINUM
5 HOT MELT SEALANT / SILICONE SILICONE

7 WEATHER STRIP FOAM

12 #10 X 2-1/4" PFH SCREW STEEL

16 SIDE JAMB SG >=0.42 WOOD

17 HEAD JAMB SG > =0.42 WOOD

18 4" X 4" HINGE MIN 0.1" THICK STEEL

19 #10 X 3/4" PFH WS STEEL

20 [#10X2-1/2" PFH SCREW STEEL

21 KWIKSET LOCK -SERIES 690 CP PASSAGE STEEL

22 KWIKSET DEADBOLT -SERIES 690 CP STEEL

23 LATCH STRIKEPLATE STEEL

24 DEADBOLT STRIKE PLATE STEEL

25 #8 X 2-1/2" PFH WOOD SCREW STEEL

29 SIDELITE SPACER VINYL

30 DOOR BOTTOM SWEEP PVC

31 INSWING THRESHOLD ALUM/COMP.
32 ADA THRESHOLD ALUM.

33 OUTSWING THRESHOLD ALUM./WOOD
34 SIDELITE THRESHOLD ALUM./COMP.
40 DOOR PANEL - SEE DOOR PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS -

41 WOOD LOCK BLOCK WOOD

42 HINGE STILE - SG >=0.42 WOOD

43 LATCH STILE - SG >= 0.42 WOOD

44 TOP RAIL §G > =0.42 WOOD

45 BOTTIOM RAIL COMP./LVL
46 LITE FRAME REINFORCEMENT SG > = 0.42 WOOD

47 POLYSTYRENE FOAM POLYSTYRENE
49 FIBERGLASS SKIN 0.08" MIN. THICKNESS FIBERGLASS
50 SIDELITE PANEL - SEE SIDELITE PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS -

51 ALUMINUM ASTRAGAL ALUM

52 SIDELITE STILE - SG>= 0.42 WOOD

53 SIDELITE BOTTOM RAIL COMP./LVL
54 SIDELITE TOP RAIL WOOD

57 SIDELITE FEMALE LITE FRAME - RSL PVC

58 SIDELITE MALE LITE FRAME - RSL PVC

59 #8 X 2" PFH WOOD SCREW STEEL

60 ASTRAGAL STRIKE PLATE STEEL

4.56"

33 OUTSWING THRESHOLD

— 125" L

=207 —~‘

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

1.13"

. SIDELITE SPACER

4.56"

597"

. SIDELITE THRESHOLD

BUILDING CONSULTANTS, INC.
P.O. Box 230 Valrico FL. 33595

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

STEVES AND SONS
FIBERGLASS DOOR
PART OR ASSEMBLY:

PRODUCT:

BILL OF MATERIALS
& COMPONENTS

K
BY

7/16/15 |Manuf./Product Name Change

1

NOJ| DATE

REVISIONS

DATE: 5/19/10

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4093

sHeer 10 oF 10

© 2010 R.W. BUILDING CONSULTANTS INC.



